
Each question has four possible answers. Choose the correct answer from among
them and darken the appropriate circle completely in the OMR sheet with

Blue/Black ball point pen.

1.

2.

3.

4.

gS ?

CHILD DEVELOPMENT & PEDAGOGY

(A) qOa1as
(B) aIQAI AIAR1

(C) 9 OIÑGI

1a ?

(A) 6U
(C) @qa1301

6@60 ?

(A) I0R 6GUGI

(B) @AARq sãNGI

(C) Qaige sãueI

3, 5, 4, 9, 8
(A) 4
(C) 5

OTET/P-II

(B) YGgIaI
(D) agAIAGOI

(B)
(D) 8

3

2

1.

2,

Which
observation ?

4.

not

(A) Achievement test
(B) Rating scale
(C) Check-list
(D) Anecdotal record

(A) Validity

SET:|D

If a test gives the same results
whenever it is repeated, it is
called as

(B) Usability
(2) Reliability
(D) Predictability

3. Which typè of validity is
important in
achievement testing ?

(A) Construct validity
(B) Content validity

3, 5, 4, 9, 8

(A) 4

tool of

Case

(C) Predictive validity
(D) Concurrent validity

(B) 3

What is the median of the
following scores ?

(D) 8

of

(Continued)



5.

6.

(A) aiasada

(B) IQ6®

(C) 6R
(D) °I610

7. giR
6@61QIGgI6A

@Ag ag0 660 ?

OTETIP-II
3

'o2
-

3-14 3

5. What do you mean by heredity ?

6.

7.

(A) Traits which are present at

the time of birth.

(B) Traits

SET:D

acquire in life time.

which

(C) Traits that achieved from

the environment.

(A) Economic

(D) Traits acquired through

the learning.

Political

Which of the following is not a

part of the environment which

affects human development ?

(C) Moral

O) Genetics

child

What. is the approximate age

range for early adolescence ?

(A From 10 to 13 years

(B) From 13 to 15 years

(C) From 15 to 20 years

(D) From 20 years and above

(Continued)



9.

(B) aA60- at 6RISA

(A) A6T@S1

(B) QIAI

(C) a6a1GA
-(D) geQIã

10. @IIA 6 agQ "1Ra

(A) 66Q
(B) 98163a9

(D) @@

(A) @6aGa

(B) IRâG SIa

(C) agSI

(D) @

OTET/P-II

8

9.

During post-natal period what
happens to the development of

nervous system ?

(A) Formation of new cells
after birth.

(B) Development of immature
cells at birth.

(C) Formation of new cells
upto 3 years after birth.

(D) Formation of new cells
upto 6 years after birth.

According to Gasell which of the
following is not type of
behaviour during infancy stage ?

(A) Motor.

(B) Language
() Adaptive
(D) Universal

10. Inwhich of the following period
of development "surge of life"

reaches its highest peak ?

(A) Infancy

(B) Childhood

SET:| D

() Adolescence

(D) Adulthood

11. The emotional content of the
initial phase of life is known as

(A) Excitement

(B) Stress
(C) Anxiety

(D) Fear
(Continued)



12.

(A) a16ralaiAiG

(D) 6R

(A) 68aQiGg!
(B) giê saQ

(D) s@6alialRgI

14. 6|9 606 61a QIQIAñA

G60 ?
(A) @.1a.4:
(B) a.NR1.
(C) Qq
(D) GR

(C) a61

d6/619IAS

(D)

OTETIP-I

12. According to Hurlock which of

the following is the meaning of

social development ?

(A) Attaining

(B) Attaining

interacting with peers.;

social relationship.

(A) Infancy

(C) Attaining maturity only in

the family.

(B Pre-childhood

SET:D

(D) Attaining maturity only in
the neighbourhood.

maturity by

13. What is the näme of thestáges ;:

of development firomrseven: to

twelve years or upto the onset of
puberty?

(D) Adolesence
(C). Later childhood

maturity

(A) DNA

(C)

(B) RNA

Chromosome

(D) Genes

14. Which of the following is a basic
chemical primarily responsible:
for genetic.inheritance.?

in

15. -Which of the following is not,
related to the process
learning as meaning making?
(A) Learning is •an active

process.
(B) Learning involves language.
(C) Learning is contextual.
(D) Learning is instantaneous.

of

(Continued)



16.

(A4) aqAAAR (B) @RGqaA

(C) aGAAA (D) g@aR
17. 6I N 6Ga6 gaR-gAia

18.

i.

iii. Ià4 AA1GG iv. 96l
(A) i, ii, iii B iv

(B) ii, ii, i B iv

(C) ii, iv, iii 3 i

(D) iv, iii, i 3 ii

19. 6I

ii. a061

OTET/P-II

sRa6 UIGaIRA

(C) 421 gaaiG goa1asa.

6

16. "The process of assimilating new

information as part of the existing
Cognitive structure is known as
(A) Subsumption
(B) Consumption
(C) Assumption
(D) Presumption

SET:| D

17. Which of the following is not
true about Trial and Error
Theory of Learning ?

(A) Learning is incremental.
(B) Learning is the result of the

formation of connections.
(C) Learning is mediated by

ideas.
(D) Learning is not insightful.

18. Arrange the following four inter
related steps in the right order
as identified by Bandura in

Observational learning:
Consequences ii. Acquisition

iüi. Performance iv. Retention
(A) i, ii, iii & iv
(B) iii, ii, i& iv

K) ii, iv, ii & i
(D) iv, ii, i & ii

19. Which of the following is not
related to Advance organisers '?

(A) Advance organisers are
special introductory
statements.

(B) It acts as a conceptual
bridge.

(C) It encourages behavioural
modelling.

(D) It facilitates meaningful
learning.

(Continued)



(A)

(B)

aIRA1

6lQ21

(D) gAAR

g62?

G60 60:

OTETIP-II

20. Which of the following is not a

of creative

21.

characteristic

learners ?

(A) Courageous

(B) Curious

(C) Thinking

possible answer

(D) Visionary

behavioural
Which of the following is not a

index of

children
difficulties ?

SET: D

for the best

with

(Ay Clarity in thinking

(B) Easy onset of fatigue

learning

22. Learning

believes that:

the

(C) Skips lines while reading

(D) Impulsive behaviour in talk

and action

as social activity

(A) Speech can be used to solve
problems.

(B) The culture gives the child
the cognitive tools needed
for development.

(C Mental development is
possible through social
interactions.

(D) Ideas came only from an

individual.

(Continued)



aqAIRG G'a qeiaN ?
(A) @a6me@al (B) @agiui
(C) $aâai (D) giaai

(A) aIOYGA

(C) al0S1RI

(B) @YIGA6Q

(C) aO a6A 10G1 98 QIGI

::

(B) @9aNg

(D) aiO4GIAGI

OTETIP-II

23. The children

SET:|D
having the

problems in speech articulation
are kown as:

(A) Dyslexia (B) Dysgraphia

(C) Dysphasia (DYAppraxia

24. Which term is used to express

the totality of the learning
experiences that the pupil
receives through manifold

activities in the school ?

(A) Curriculum (B) Content
(C) Lesson Plan (D) Syllabus

25. Which of the following is not a
strategy being recommended by

the Programme of Action, 1992

(P.0.A., 1992) for.the education
of the SCIST children ?

(A) Equalisation of the
educational development of
the SCIST with that of the
non-SCIST.

B) Ensuring the cent percent
enrolment of SC/ST
hildren in the school
leading to satisfactory
completion at the primary
stage of education.

(C) At least 75 percent of the
children in the age group of

11-14 will have to be
enrolled and retained in
the school leading to
satisfactory completion of
class-VIII.

(D) At least 75 percent of the
teachers working at the
primary stage be trained.

(Continued)



26.

(A) 6NI
(B) 41AGI
(C)

(D)

QgI@R0I

(A) I6mIAI SGge
(B) âga saQe
(C) âaiansae

100|

(A) 6mIAI
(B) oe
(C) ga

(D) gaa

(A) gG
(B)

() Gagag
(D) a6GAI

OTETP-II

30. 6Ra Q@R 6Rer QAY ana6 A6 ?

(A) GRIaSI, QI6, qIg GIR

(B) RIaSI,6Q@8, 66n®R

(C) GGaSI, 60@G, HGNGISIG

(D) GIaSI, 66060GOa,

9

26. Which guality is not found, in a

good test ?

(A) Validity
(B) Reliability
(C) Usability

(B Flesibility

27. Which of the following approach
is different from the other three ?

(4 Discussion Centred
(B) Teacher Centred

(C). Learner Centred

(D) Learning Centred

28. Which of the following method is.
learner-centred ?

(A) Discussion
(B) Demonstration
(C) Narration
D) Project

SET:D|

29. Which of the following is most
important in learner-centred
curriculum ?

(A) Teacher
B) Child

(C) Content
(D) Environment

30. Which of th following are only
visual-aids ?

KA) Blackboard, Chart, Flash card
(B) Blackboard, Radio, T.V.
(C) Blackboard, Radio, Newspaper

Blackboard, Tape recorder,(D)
Line diagram

(Continued)



(A) @l
(C) 0OR

(AY 'gas

(C) 00R

33. Q06

(B 6AG gA

34, 6@G

(B) Gar

210162GIgA 6RQ gaiaa g0 ?

(3) sIA

(C) aYIGGY ga

(D) Gan

(B)

(A) @Aga1 (B) ge16101

35.'1 29 661' 6 6Ga asIQIR

(A) 9gñe ag

OTETIP-II

gsiA1

M.IL. (ODIA)

(D) 6Q16saing

(C) IRgâe ag
(D) 8 SIOR gIG1

10

36. 69QS ae4 aAIIRA Q6QIY RST ?

(B) JI2 Q06IS

(D) q9R1 Q00 GIA

37. GIe 001 gASY GRS ?

(A) aiR2 Q066IS

(C) Gge 00R G@CI

SET:| D|

(D) 4IOG O0R GGI

38. CIGY6006Q 660 626 YG20

IŽ ?

(A) g4Q99 (B) Qd62o

(C) GGaqee (B) 2IQ6TR

39. 60G egag1 @giäi IRG OI
9461g62?

(D) 6aAIRGOANSIRa198 I

40. qeRIIG ASROIA 6as
ggiêe advgs ?

e

(C) 6G56IS 1QQ 6RQ agsgQ

(Continued)



OTET/P-I 11

(A) UR@RoI

B) QAGI

(D) 6@g18

42. G1 AIZIQIQI agg g ?

(AJa1491gIQI
(B) °46 gIQI

(C) aiO4 GIAI

ai@OY 6R6066R AGY ?

aaii q°S G6Q ?

(A) aQ4OIQ

SET:D|

(B) /@AIRQ

(C) aiGQ

(Continued)



45. aIA1R 6AI a0RR aa66IQ

GQY ' 621Q ?

(B) @G AINO 6QIQI
(C) s6la@a lIQ1 621

°. 46 . 50 0YS gaAa

A6A a10 6A6A 6QI6,

1 O4

169 QI6

oTET/P-II 12

(B) IA24
() 6q2 gi@g

47. qa 2a6 @ ' 6@Ga ?

(B) ai2
(C) q@a Glad4

(D) as
48. i agaGa G6l G60 ?

(B) 1RAa RRI G60

(C) aIR g@IA G60

(D) @@AYOR AIGIRMSIIN

9?
(A) 986

SET: D

(C) aglI

aia ?

(B) GIYGII

3)21RIRIQ

(D)

161

(Continued)



51. aIA'–1 6@a gI0 aG ?

(A) gaIA (B) @6GIAY

(C) @66961

52. 6@a
(A) 6GI

(C) an1

(A) añga@l

54. Ini

aRO gõae g6?

53. 'naI GI aii 6@eI @ala a's ?

aGYA ?

(D) G

(B) GÖA agA GI

(C) aA® q0R

(D) QI I9R

(B) @@G

OTETP-II

(D)

Q49210

(A). R,A (B) @g

(C) ®0R (D) na

K13

56. 'ag
g GaGIaI aà geAI

(B) aag aiânaiq

57. 6a6 QlNIGIAR Q HO GIQ4 ?

(B) 12IaigI(A) ReI
(C) 6GIQ

58. 6Ga6 'a61' 190 gg a4. ?

(A)

(B)

t U1A
+ lI1a

SET:| D

(C) G+ l61A

(D) G061
+

59. 6Rsa co g040 a'6ai6a

(A) s@ge (B) aje
(C) ada (D) 66lQG

2:60:'g0gaG:@aa101a:6RINRARG

.(A)G1G :(B)¿GIGG

:(C) q06

(Continued)



61. The technigue which basically
involres encouraging Students
i0 prepare for the lesson before

taking the class is

(A)

(B Selflearning
Gamiäcaion

(C) Fipped class room
(D) Discussion method

62. Tnderstanding lerel of teaching
inciudes

MMemory

Apiude
Insight

(4) i&ii B) ü& iii
(C) i& iü D) ii &ir

Out

Creaisiy

63. In the Developmental stages of
Reading, the stage, where the
chiid becomes aware of the war
in which letters are combined
leading to distinct sounds, i
referred to as
(4) Pictorial stage
(B) Orchographic stage
(C) Ssmbolic stage
(DY Blending stage

64. In a language class-room if a

teacher is merely pointing
the similarities and

dissimilarities between common

and proper nouns. his/her
teaching is at
(2Y Memory level

OTETIP-I

ENGLISH

(B) Reflective level
(C) Understanding level
(D) Autonomous development

level

30

65. Aschool gives preference to girls
while preparing students ior a

state-level solo-sOng competitio2
This reñects
LA) Gender bias

68.

SET: D

• (B) Pragmaic approach

(C) Global trends
(D) Progressive thinking

66. Learner display individual
differences and therefore
teacher should

67. Pick

(A) inerease number of tests.
(B) enforce strict discipline.
(C) insist on uniform Dace oi

learning.

) provide variety
learning experiences.

ihe grammaicailr
cOrreci senience :

(A) If I am the PM. I li
change he educaion system.

B) fI was he PM, I would
change the educaion sstem.

(C) fI were the P, I sould
change the educaion sysem.

If I was the P.. Iould
have changed the educaion
sTstem.

Find the correct expression from
among the following:

(4) Lets take a break, will we?

B) Lets take a break, do we?
(C) Lets take a break, can't we?

D) Lets take a break, shali we?

(Contined)



69. Identri the grammatically
acceptable sentence :

(4Y He goes to ofice everyday
br bus.

(B) He goes to office by bus
ererrday.

73.

(C) He goes everyday to office

D) He goes by bus everyday to
omca.

70. The îrit I ke most is mango.

The underiined word is alan

(4Y adrero (B) adjective
(C) nun (D) pronoun

71. Br tne ime we reached the
airpori, zhe fight
(A) le
(B) was leaving

(e) had lef
(D) had been leaving

72. Many a psarl
necklace.

KÁ) makes
B) make
(C) are making
(D) have made

the blanks are
SA) The, the B) The, a

Japanese
industrious people.

The correct aricles to be used in

(C) The, an

off.

OTETIP-I

(D),A, the

a

are

74. Which is the correctly spelt word?

(A) Defenazion B Definition

-(C) Difenaion D) Dafinition

75. Identify the grammatically
correct sentence among the
following sentences :

(A) Never Italk while eating.

(B)
(C)

(D)

SET:D

Never I do talk while eating.

Do never I talk while eating.

Never do I talk while eating.

76. Which of the following is

simple sentence ?

(A) He went to bed early,
because he was very tired.

(B) He was so tired that he
went to bed early.

(Ch He went to bed early due to

tired-ness.
(D) Hle was very tired, so he

went to bed early.

Instruction Read the verse
passage carefully and answer
the questions from 77 to 81:

It pains her to see

Animals suffering and hurt,
She carries a fur purse,
To match her leather shirt,
She wastes paper
She has the guts,
But, oh ! how she hates
Trees being cut.
Child labour
She condemns vehemently,
Why is then her little domnestic
maid
Never treated gently ?

Cruelty to animals
Makes her boo-hoo,
Her favourite outings
Are to circus and zo0.

(Continued)



77. The woman in the poem is a(n)

(A) Social activist
(B) Environmentalist
(C) Wild-life lover
p) Hypocrite

78. The professed compassion of the
Woman for animals
contradicted by her :

(A) carrying a fur purse
(B) mal-treating her domestic

maid
(C) wearing a leather skirt

) Both (A) and (C)

79. The statement "She hates trees
being cut" is falsified by which
of the following information ?

(A) She wears a leather skirt.
B) She wastes paper.
(C) She condemns child labour.
(D) She has the guts.

80. Buying animals products
(A) directly encourages hunting

of wild-life.
(B) forces .govt.. to enact

conservation laws.
(C) discourages hunting of

wild-life.
DY indiectly encourages

hunting of wild-life.

81. Animals in circuses and zoos are
treated
(A) insensitively
(B) ethically
(C) compassionately
(P) intolerantly

OTET/P-II 32
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Instruction : Read the passage given
below and answer the questions
that follow : (Q. 82 to Q. 86)

Faith is a powerful medicine.
which appears to have a powerful
productive. effect, for which experts
offer several possible explanations.

.Doing religious services guarantees
contact with people. Social support is
a well-documented key to health and
longevity.

Faith gives a sense of hope and
contról that COunteracts stress.

Commitment to a system of beliefs
enables people to better handle
traumatic illness, suffering and loss.

Praying evokes beneficial
changes in the body. When peoplepray, they experience the samedecreases in blood pressure,
metabolism; heart breathing rates as
the famous "relaxation response"described by Herbert Benson, a
famous Haivard Medical School
doctor. Reciting the rOsary, foexample, involves the same steps as
the relaxation response : repeating a
word, prayer, phrase or sound andreturning to the repetition when otherthoughts intrude. While the"relaxation response" worksregardless of the words used, Bensonsays those who use a religious phraseare more likely to benefit if theybelieveein God and utter the phrasewith strong and sincere conviction.

82. Which of the-following does not
follow from the passage ?
(A) Saying prayers, enhances

the pace of metabolism.
Reciting the rosary is an
instance of the relaxation
response.

(B)

(C Performing rituals andreligious practices ensures
close social contact and
interaction.

(D) "Relaxation,Response" is
effective no matter what
wOrds re used:

(Çontinygd)



83. Which of the given words is best
suited to fill in the blank in the
sentence below?

"Faith creates a sense of hope
and control which is alan

to stress."
(A) panacea
(B) antivenom
(C) antidote
(D) antivirus

84. Which of the following meanings
best applies to the
"evokes"?
(A) to bring into the mind
(B) to cause to happen

(C) to incite or instigate

(D) to counteract or nullify an
effect

85. Repetition of a religious phrase
is móst beneficial for one who is

(A) a theist
(B)

(C)

an atheist
an agnostic

(D) a nihilist

Word

86. Which of the following is not a

productive effect of Faith' as

mentioned in the passage ?

(A) ensures long life

B ensures health
prosperity.

ÖTETP-ii

and

(e) helps to cope with loss
(D) gives,a sense of optimism

33

87. Which of the following is least
important in teaching ?

(A) Lecturing in impressive ways.

(B) Maintaining discipline in
the class.

(Cy Punishing the students.
(D) Drawing sketches and diagrams

on the blackboard if needed.

88. Which of the following level of
teaching requires 'more active
participation, more imaginative
and creative thinking ?

(A) Memory level

SET:| D|

(B) Reflective level
# (C) Understanding level

(D) All levels

89.- The main aim of teaching is :

(A) to disseminate information
to the learners.

(B) to help the: learners in
getting employment easily.

(C) to help the learners to pass
their examinations.

(D)Ato help the learners to
respond to their environment
in an effective way.

:.

(A) S-R theory

90. Teaching.. at memory level is
based on:

(B) Field theory
(C) Gestalt theory
(D) Cognitive field theory

(Continued)



92.

(A) -BI
(B) 6GIN

(C) @Sss

(D) g6AIGI

"64 S101 70 66 ?"

6a gaIA g aG6 ?

(B) @IaN

Gl6i YQ° RIR MATHEMATICS & SCIENCE

(D) g@aAgeG

60| G60 ?

(A) d6ALG1RIQ

(B) giR °RIdY

() gageId

OTET

(D) gaaa g°Ia

34

91. Suggest alternative methods for

solving mathematical problem'

is an example of which specific

aim of mathematics learning ?

92.

93.

(A) Knowledge

(B) Understanding

(C) Analysis

(D) Application

"What is the 70 percent of 64 ?"

Which type of test item is it ?

(A) Specific answer type

JB) Completion

SET: D

(C) Two choice answered
(D) Short answer type

In which, period of cognitive
development child try to present
his/her ideas logically at the
upper primary level ?

(A) Sensory motor

(B) Pre-operation

6 gIA/SPACE FOR ROUGHWORK

(Ø) Concrete operation

(D) Formal operation

(Continued:



94.

(A) GI1A ASIA18 1986

(B) GIG18 6AI18 1968

(C) I1 alOYGAA AI 2005

95. RRIOSI6A 1618 gAAA60

(A) 55°

(B) 65°

(C) 45°

(D) 35o

OTETP-II

94.

35

of Science and
revolution, special

should

was
mathematics ?

1986

1968

on mathematics." Whose vision

this for teaching of

(CY National

in this

(A) National Education Policy

Framework 2005

be

(B) National Education Policy

stand. while

SET: D

-(A) 55°

650

world

(C) 45°

Industrial

(D) 35°

9 gIA/SPACE FOR ROUGH WÖRK

attention

(D) None of the above options.

given

95. At which angle a teåcher must

Curriculum

mathematics on black-board ?

explaining

(Continuedj")



(A) 3:2

98.

(B) 2:3
(C) 5 :1

:

(D) 4:1

97. 661y g°GHQ Qs9 6 G716

(A) 2 33

(B) 2.5 83

(C) 3 B 4

(D) 4 3 4.5

129 – 90V20 ede Qa GQ

(A) 5V6–2y3

(B) 6y2-5/3

(D) 342- 5V3

.96. On selling water mixed milk, at
the rate of cost price of milk,
becomes 25% profit. Then what

is the ratio of milk and water in

the water mixed milk?
(A) 3:2
(B) 2:3
(C) 5:1
B) 4:1

97. If the square root of a number is

between 6 and 7, then its cube

root lies between

(A) 2 and 3

(B) 2.5 and 3

(C) 3 and 4

(D) 4 and 4.5

SET: D

98. Find the square root of
129 - 90N2.

(A) 5N6- 2\3
(B) 2-5N3

(D) 342-5n8
gIA/SPACE FOR ROUGH WORK



99. 6G4. aA9IR @9Ga g60@

(A) 14 6aã

(B) 12 6gã

(C) 16 6aã

(D) 10 6q

100. AABC60. AB = AC, BC B AC

aa60 aaigsA D 3 E 6 G2

600 AD = AE. ZBAD = 30°

626, ZEDC Al6l 6R60

62%?

(A) 10°

(B) 15°

(C) 20

(D) 25°

99.

SET:| D|

On decreasing the sides of an

equilateral triangle by 4 cm, its

area decreases 24/3 cm2, What

is the length of the sides of the

triangle ?

(A) 14 cm

(B) 12 cm

(C) 16 cm

(D) 10 cm.

100. In a triangle ABC, AB = AC.

Points D andE are on the sides

BC and AC respectively such

that AD = AE. If ZBAD = 30°,

what will be the measure of

ZEDC ?

(A) 10°

(B) 15°

(C) 20°

(D) 25°

oP âal IA/SPACE FOR ROJGH WORK



101. 6MlQ gNNO SIÊN 8% QIQ60 2

R 128 6R6A, gRNN 6R60?

(A) 20,000

(B). ? 10,000

(C) 12,800

(D) 25,600

102. V6+N6+V6+NG+

9n46G60 ?

(A) 6

(C) 4

103. 0.23 + 0.23 =?

(A) 0.465

(B) 0.465

(C) 0.465

(D) 0.4654

(B) 5

(D) 3

.. .. o0

101. How much is the principal

if the

7 20,000

amount,
between compound interest and

simple interest of the same

principal amount for Z years at

the rate of 8% per annum is

128 ?

(B) 10,000
(C) 12,800

(D) 25,600

102. What is the value of

A) 6

V6+v6+y6+6+...

(C) 4

103. 0.23 + 0.23 =?

(A) 0.465

(B) 0.465

) 0.465

(D) 0.4654

SET:| D

Qr 1 gIA/SPACE FOR ROUGH WÔRK

(B) 5

difference

(D)) 3

?



104. algG GAG U q°G9IQ A9Q425

6R6 ?

(A) 83

) 85

(C) 87

(D) 89

105. a@ x= 8 + 2v2 a4, Vx

(A) 1

(B) 2
(C) 2y2

(D) 343

106. a@+=1,g að.4 b3 =?
b

(A) 1

(B) -1

(C) 2

b

(D) 0

104. If the sum of five consecutive

odd numbers is 425, what is the

middle number among them ?

(A) 83

(B) 85

(C) 87

(D) 89

105. If x=3+22, then the value of

(A) 1

(B) 2

(C) 2V2

(D) 3/3

106. Ir4bf;+=1, then a³ + b3 =?

(A) 1

(B) -1

(C)

(D)

SET: D

2

0

T l gIn/sPACE FOR ROUGH WORK

9+
2+

41B

342
V32044Y

S12V3



(D) 8 °GIQ

GG 62GI, agg 20% ai

OI01 a 6RIQaN, 6060 6Q

(A) 25

(B) 20
(C) 30
(D) 15

107. Which of the
statement is true ?

(A) Square of a prime number
is always an odd number.

(B) Square of an odd number is
a prime number.

SET: D

Sum of two perfect square
is a perfect square.

following

(D) Difference between two
perfect square is equal to

the product of sum and
difference of their square
T'Oot.

7 25

108. The merchant wrote down a

price 20% higher than the
purchase price on a purchased
item. But since the item was not
sold for a long time, he sold it at
20% discount. If he incurs a loss

of 1 in selling the item, how
much did he pay to purchase
that item ?

(B) 20
(C) 30
(D) 15

O a61 gIN/SPACE FOR ROUGH WORK



109. 66116N 60Q 6QIdSA G46 aAIA

@Gi6Sga SNgaR 6.25 @6 6afi

(A) 8 6aA

(C) 12 6aA (D) 16 69

110. AABC 6Q XY,AC Qg AA10 3

(A)

AE GIGG66, 686, AR

(B)

(C)

(D)

A

X

N2+1
2

2-N2
2

2+v2
.2

(B). 24 6a

V2-1
2

B

AX
=?

109. A chess-board contains 64 equal

squares and the area of each

square is 6.25 cm². A border

(inside) round the board is 2 cm

wide. What is the length of the

chess-board ?

(A)

(C)

AX
AB

(4j

(B)

(C)

(D)

8cm

12 cm

110. In AABC, XY is parallel to AC

and divides the triangle into the
two parts -òf equal area. Then

.

N2 +12
2

2

2+N2
2

2

B

QP A gIA/SPACE FOR ROUGH WORK

(B)

(D)

SET : D

24 cm

16 cm

Y



111. g Q60, ABDE, ABFG 8 ABAC

96, BE = EG = GC 6R6n,

ABDE, ABFG

6Ngan0 agal 6R60 ?

B

A

G
(A) 1: 2:3 (B) 1:2:4
(C) 1:3:6 (D) 1:4:9

6mIGgSI9I 20%

ABACA

aa 6IGA°SI 15% GGGI,

64 aA6.QQ.6116 6IGa°G4I

A6I 39,390 6QIQNNI: 606

6mIRA°S4I 6@60 2i ?

(A) 40,000 (B). 40,200
(C) 40,400 (D) 40,800

111. In the given figure, ABDE,

ABFG & ABAC are all
equilateral triangles. If
BE = EG = GC, then what will

be the ratio of area of ABDE,

ABFG and ABAC?

B

SET: D|

E G

(A) 1:2:3 (B) 1:2:4
(C) 1:3:6 (D) 1:4:9

112. The population of two villages
was equal. After five years the
population of one village has
decreased by 20% and the
population,of another village

has increased by 15%. At that
time the population of both the
villagestogether became 39,390.
So what was the total
population of both the villages
five years ago ?

(A) 40,000

.s) 40,400 (D) 40,800

(B) 40,200



113. QG a°GIQ lAAAIAaiei 28 8

(A) 14, 56

(B) 56, 7

(C) 28, 56

(D) 14, 34

114. 135 – 36 2170 IQl QIIG6N.,

GIS6SS 6R60 6@G ?

(A) 0

(B)1
(C) 10

(D) 16

115. 6I 9a 0 Q8 10 6aâ,

12 64A 8 15 69Ä 626A, 1210

a a1gl 660 62G?

45
(A) Sgñ (B)

(C)
60

113. The mean proportion between
two numbers is 28 and the third
proportion to them is 224.

Determine the numbers.

(B)

(C)

(D)

14, 56

56. 7

28, 56

14, 34

114. What will be the remainder

when 136–36 is divided by 2170 ?

(A) 0

(B) 1

(C) 10

(A)

(D) 16

115. If the altitudes of a triangle are

10 cm,' 12 cm and 15 cm, then

its semi perimeter is

45
Cm

SET:| D

15
V14

(B)
7

Cm

60
Cm (D) cm



(B) ll68R AIU10 Q4GQI

(C) 6jsiigg a@oIRAI

(D) aIGIA ANG0.RI

117. 6@a SAIGIR a8IO

(A) gsIa

(B) al6612

(C) @s4sSI

(D) gG

AIIG @AA aN ?

(B) gs4G saIaiag Q aissQ

(O) qs4 6aiaing@agoaissa
.':"

(D) 4AINIRa. gll1@

116. Which one of the following is a

major problem of teaching
'mathematics ?

(A) teaching methods of
teachers

(B) use of mathematical tools
(O) classroom operations

DS knowledge of teaching
methods

117. Which
proceeds

known' ?

teaching method
unknown . tofrom

(A) Demonstration

SET: D

(B) Inductive

JC) Analysis

(D) Project

(A)

118. How to teach mathematics to

visually challenged children ?

Scafolding

(B) Allowing children to tell

each step loudly.

(C) Allowing children to repeat

key stepsloudly.

(D) Breaking down the process

into simple steps.

€:@ gIa/SPACE FOR ROUGHWORK :



(A) GIRIgR AOR aQ1N6

(B) goIIIR AQ1g

(C) AIIRSI®a @AGI

aa1a61

(D) 0Y6QNEI Q1ASI

qiaâaoI q6R,

(B) RQIA1

(C) qO8a a°aggs

(D) aNG

119. Which test is used to find errors

committed by students during

mathematical operations ??

(A) Diagnostic reading test

(B) Remedial test

(e) Diagnostic mathematical

skill test

(D) Observation test

SET: D

120. If the learning activity will have

meaning and relevance, the

learning will be long lasting.

Which component of activity

based approachdoes it belong

to ?

(A) Focus centrèd

(B) Joyful

(C) Spontaneous involvement

O) Challenging

Q G gIA/SPACE FOR ROUGH WORK



121. @QAIOG

(A) 0 - 100
(B) 32-110
(C) 95 - 110
(D) 100 -240

122. 6Ga Gsiia aN6A PRG14 l66 ?
(A) D B E
(B) KBC
(C) A B

(D) BBC

123. 6@a @aiG IaSIQ 1998 1@gisa
8@6lQ QgSmIG glSI 2Q106 ?

(A) aaaIG
(B) G41

(C) AYI

(D) AIIQ1

124. mAA A@aàAQgSY GIA6 G'A

(A)

(B)

(C)

RIAGIAIGGY

@g@cyQ RIASII à

(A)

QGl GIQGIAIeY
(D) aagnagei aia saIaaI

125. 6@2 aâginsa N 6RIR a@ga

6@GIaI?
12IaISA

(B)' 61Q aEN

(C) gaTAIR GRUI

OTETP-II 46

121. What is the range of clinical
thermometer in Fahrenheit
scale?
(A) 0- 100

AB) 32– 110

(C) 95- 110
(D) 100– 240

122. Which vitamins are soluble in
water ?

(A) D'& E
(B) K&C
(C) A & B

(P) B&C

123. Which disaster caused many
deaths in Odisha in 1998 ?

(A) Heatwave
(By Cyclone

'.. (C), Flood
(D) Epidemiç

124:Wht wa the main cause of
London Smog disaster ?
(A):Wastesfrom sugar mill

SET: D

.r.(B). Wastes from Hydroelectric
power plant

(C) Wastes
industiy

from

(D) Wastes- by. burning of coal
to keep house warm.

blooms are seen ?

(A) Ocean
(B)

125. In which habitat more algal

Polar region

textile

(C) Flowing waterman
D) Fresh water lake

:(Continùed)



126. (i)

(ii) 6a@

(A) () B (ii) IR aaI R

(B) (iü) 3 (iii) I AIa N

(D) ), (ii) 3 (ii) ag90G @gI

(i)

@gIASIG60

(A) 6eR (i) ÖR

(B) 6Gn (iüi) ÖR

(C) aRa () B (iü) ÖR

(D) @0 (i) 3 (ü) Öa

OTETIP-II 47

126. (i) A learner drew the correct
diagram of the preparation of
hydrogen in the laboratory.

(iü) The same learner arranged
the apparatus according to

the diagram and collected
hydrogen.

(iii) T'he samne learner recorded

SET: D

.(A) (i) and (ii) belong to one

category of objectives of
science education and.(iii)
belongs to another category.

(B) (i1) and (ii) belong to one

category of objectives of
science education and (i)

belongs to another category.
(C) (i) and (i) belong to one

category of objectives of
science education and (ii)
belongs to another category.

Ø) (1), (ü) and (iii) all belong to
on category of objectives
of science education.

127. In a question it is asked to plot
a graph on the.given data and to
answer SOme lesson based
questioms relating-to the graph.

the observations of the
experimnent correctly and
sequentially.

This is a skill based question.
(ii) This is an application

based question.

(A)

(iii) This is a knowledge based
question.

(C)

D)

(B) Only (iii) is correct.
Only ) is correct.

Both (i) and (iii) are correct.

Both (i) and (ii) are correct.

(Continued)



128. GRSQ QsGIR IA6A IaG0

(ii) G6 6AIGAA 6QIaIQO

(iv) GR6Q Gan aaie

121 6@a 6g61Q9 ga asS ?

(A) BIR s@G

(B) 6IU G®G

(C) g6EIG aG
(D) 6las a@G

129. @IG GAIQIA6Q 638a aSQ4 Q

OTETIP-II 48

128. Somo thermal change occurs
when glucose is mixed with
water. In which of the following
cases similar thermal change

0Ccurs ?

Sodium carbonate is mixed

with water.

(ii) Ammonium

SET:| D|

chloride is

mixed with water.
(iüi) Concentrated sulphuric

acid is mixed with water.
(iv) Calcium oxide is mixed

with water.

This question belongs to which
category ?

(A) Knowledge-based

(B) Understanding-based
(C),Application-based
(D) Skill-based

129. Which is different from others
with regard to instructional
objectives of teaching science ?

KA) A learner drew thediagram of a flower.
(B) The same learner labelled

the different parts of theflower correctly.
(C) The same learner

explained the functions of
the different parts of a
flower.

(D) The Same learner
explained the formation ofruit from a flower.

(Continued)



130. (i)

(i) @YIgi1

(B) (ü) 3 (ii) RIR GAIA NG

616119 AY qq° () 24

(C) (1), (ii) 3 (i) a9g@ GgIR

(D) (1), (ii) 8 (iii) -g6®4G @IA

OTETIP-II 49

130. (1) A learner keeps in memory

the subject matter of
science.

SET:D

(ii) A learner observes
phenomenon of science
minutely and records the
observations sequentially.

a

(ii) A learner performs simple

experiment On science
during leisure time.

category.

(A) (i) & (i) belong to one

category of objectives of

'science education and (ii)

belongs another

(BY (ii) & (iii) belong to one

category of objectives of
science education and (1)

belongs to another
category.

() ), (ii) & (iii) belong to one
category of objectives of
science education.

(D) (1), (ii) & (iii) each belongs
to different category of
objectives of science
education.

(A) These are hard.

131. Which statement is not correct
for ionic compounds ?

(B) These have high melting
point.

(C) These have low boiling
point.

(D) These are soluble in water.

(Continued)



(A) CaO(s) + H,O)
Ca(0H),(aq)

(B) Fe(s) + CuSO(aq)
FeSO,(aq) + Cu(s)

(C) Pb(s) + CuCl,(aq)

PbCl,(a) + Cu(s)

(D) -2FeSO,(s)
+ SO,(g) + SO(g)

133. (0)

(i1)

(A) (i) 8 (ii) ÖaQ° (iii) Qm

(B) (ii) 3 (ii) ÖRg° ()
(C) )8 (iii) OR qG° (i) 9R
(D) 1), (ii) 3 (ii) ôR

134. 66g @QYQ a01210 6@a4 N°

(A)

Fe,0,(s)

(B)

(C)

4a-aia 62/Q@:

OTETIP-II

l 6219@ :
aa@a6G QR::

50

132. Out of the following which one
indicates decomposition reaction ?

(A) CaO(s) + H,0()–
Ca(0H),(aq)

SET: D

(B) Fe(s) + CusO,(aq)
FeSO,(aq) + Cu(s)

(C) Pb(s) + CuCl,(aq)
PbCL,(a)+ Cu(s)

9r 2FeSO,(9) heat, Fe,0,(s)
+ SO,(g) + S0(g)

133. (} Copper oxide forms salt
and water reacting with an
acid.

(ii) Sodium hydroxide forms
salt and water reacting

with a base.
(iii) Sodium hydroxide forms

T salt and gas reacting with
metal.

(A) 1) and (ii) are correct and
(iüi) iswrong.

(B) (ii) and (ii) are correct and
(1) is wrong.

(2 ) and (ii) are correct and
(ii) is wrong.

(D) ), (ii) and (iii) are correct.

134. If the length and area of cross
section of an electric conductor

doubled and quadrupled
respectively by a machine, then
"its specific resistance shall be

(A) one-fourth

/B) halved'

(C) unaffected
:.(D) doubled

(Continued)



135. 69a6a q3° qIQ G2IaN ?

(A) g2l6l

(C) JAs@
(D) aag2

136. RSIg 6Ga 6A6Q aSS, SaIG

137. ag aagQ R 6R6631?

SR

(A) 12 2
(C) 5 S2

:

6 2

6 S2

ÖTÉT/PII

(B) 8S2

(D)' 22

1.5 A

40 km/hr. 66& aIQ aI0
6a@aa6Q aA qIRA 60. km/hr.

60616Q 6 aER
.

IS
QIQI2I 6G61 6G6GI?

(A) 0 km/hr. (B) 50 km/hr.

(C) 48 km/hr. (D) 100 km/hr.

51

135. Which one is called a "Shooting
Star" ?

(A) Asteroid

(B) Meteorite

(C) Comet

(D) Satellite

136. In which of the following case an

erect, diminished and virtual
image will be formed ?

(A) Convex mirror and concave

mirro
B) Convex lens and concave

lens
(C) Concave mirror and convex

lens
(D)

R

SET: D

137. What is the value of R in ohm in
the given circuit ?

Convex mirror and concave

lens

(A)

(Cy 5 2
12

6 2

(e43

6 2

12 V

(B) 8 2
(D) 22

1.5 A

138. A man travelled from one place
to the other place with a speed
of 40 km/hr. and returned to the
initial point with, a' speed of
60 km/hr. in'same path. What
was his average speed ?

(A) 0km/hr. (B) 50 km/hr.

(48 km/hr. (D) 100 kn/hr.

(Continued)



139. 10 g. GgQ @a 1G ga @g ad6a

10 cm/s² Q06 qg 6R| | @6 2

(A) 1000 N, 2000 NS
(B) 100 N, 50 NS

(C)

(D)

To0N,

(A) 0N

1

1000

(B) GÖR

(C) G9Ig

140. @6AI 6Ra gaQIaA GENal

(C)

(D) aAII

(D)

(A) 66Ig1

(B) .
a6IS1

(C)

@a

(A) 4

N, 500 NS

gI

OTETIP-II

50NS
1

aSq@

(B) a6IGSIG

1

(D) @gg1a.

52

139. A force produces an acceleration
of 10 cm/s in a body of mass

10 g. What is the magnitude of
force and value of change in
momentum respectively, if the
force acted on the body for 2

seconds ?

(A)

(B)

(D)

1000 N, 2000 NS
100 N, 50 NS

1 1
J) T06 N, BO NS

1l000N.

(A) Liquid

more energetic ?

(B)
,

Solid

140. Out of the following, in which
state of matter particles are

1
500

wC) Gaseous
(D) Plasma

SO) Family

141. Which is the primary social
environment of a child ?
(A) Community
(B) Neighbour

NS

142. Water is

SET: D

(D) Friends & relations

indispensable
plants. In which process wateT
is not liberated in plants ?

AA) Respiration
(B) Photosynthesis
(C) Transpiration
(D) Guttation

for

(Continued)



ÖR?
(A) as469A61

(B) Gay ä

(C) Ga

(D) aY6AA

144. a661 @RIR AaI a@60 saa

(A) 6lean a10a
(B) s@g@G qHSSIg
(C) d6G2Gt3yst
(D) S AAII

(A) IGO6R SIQYQBA

(B) 200 mGG. AOTQI

(C)

(D) GRR AAG;:

(OTET/PÍ!
%653

143. Which One is
sequence of
education ?
(A Observation Noting of

facts Fct analysis
Inference

(B) Noting of facts
Observation.

SET :|
D

the correct
environment

144. Which

analysis Inference
(C) Fact analysis Noting

of facts Observation
Inference

(D) Observation Inference
Noting of facts

Fact analysis

(C) Child centric

One is fault of
environment education ?

SA) Stimulation of interest

(A)
(B)

(D) Group teaching

Fact

Increase in value of
scientific temper.

145. Teacher showed the specimens
of potato and radih in the class.
Indicated that oneis a root and
other one is a 'stem. Then which
difference from the following
can we know that it is stem or

Food depositionünderground
Absence.of chloroplast
Roots coming. out fom

modified poitions
(D) Reproductivepöwer i

(Continued)



62160N ?

(A) asiña-c (B) GIn D

(C) @GIñR-A (D) @cIâQ-E

I2G?
(A) AlQ 6RITÂA
(B) ll YSna

148. 6G 6aiçIGagAO?

(A).q@aI–ñ6AIA
(B) 6q2AI0 –T4 U

(A) Asa

(B) GIQGIA

(C) aGIR
(D) aGAIAGIR

(A) G@@y agiG
(B) GIaG @y GIAGIRI

(C) 66IGO SYIA al

OTET/P-II

146. Deficiency of which vitamin
causes skeletal deformity of

skull bones and bow legs and
hands ?

(A) Vit.-C

AB) Vit.-D

(C) Vit.-A

(D) Vit.-E

54

147. Which mosquito is the carrier of
a viral disease ?

(A) Female Anopheles

(B) Female Culex

SET:| D

(es Female Aedes

(D) Male Aedes

148. Which pair is unrelated ?

(A) Proteins – Amino acids
(B) Lipids - Fatty acids

Starch - Acetic acid
(D) Vitamin C - Ascorbic acid

149, Which gas is emitted
compost pits due
decomposition ?
VA) Methane
(B) Carbon dioxide
(C) Oxygen
(D) Nitrogen

l50. Which electric power production
plant releases maximum
amount of fly ash wastes ?
(A) Hydroelectric power centre
(B^ Thermal power plant

from
to

(C) Gobar gas plant
(D) Nuclear energy centre

(Continued)
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